Reception — Autumn Term
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There are more
There are fewer yellow socks.

red socks.
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There are _3 _ spoons altogether.
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Compar'e. the amounts ‘There are three red birds and two blue birds. Three is a
part. Two is a part.” 1 1 1 1 1 1
more more more more more  more

‘Four is one less than five.
Five is one more than four.
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What is 1 more than 2?
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Reception — Autumn Term
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The basket is heavier
than the beanbag .

I know this shape is a circle because
it is round.
This shape is a circle.

The _balloon is lighter
than the suitcase.
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I know this shape is a triangle because
it has 3 straight sides and 3 corners.

This shape is a _square .
This shape has _4__ sides.

Teddy is _under the table.

Teddy is _behind the haystack.

This shape is a triangle.

This shape is a _rectangle .
This shape has _4 _ sides.
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Teddy is _befween the cones.
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the box.

Teddy is __in

What shapes can you see?

What pattern can you see?

At night, T _go to sleep .

In the morning, I _wakeup .
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